BC Calculus – FDW 3rd Edition – Section 5.1 Even Answers

Quick Review 5.1

2. 144 mi   4. 
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   6. 1200 gallons   8. 25,920,000 ft3   10. 176,400 times

Section 5.1

2. Find the area of the trapezoid to find displacement: 
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. Since xo​= 0, xf = 20 m.

4. Each rectangle has a base of 1. S5 = 
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6. SRight = 1.25 (= RRAM)[image: image4.jpg]


, SMidpoint = 1.375 (= MRAM)[image: image5.jpg]


   
8. A = 4/3   10. 1.0986   12. 2   14.[image: image6.jpg]o error




16.(a) 87in  (b) 87in  18. 3665ft   20.(a)S8 = 146.08406, overestimate since each rectangle extends above the curve. (b) 9%

22.(a) 372.27873 m3  (b) 11%   24. 31.41593   26.(a) 74.65 ft/s (b) 45.28 ft/s (c) 146.59 ft

28.(a) S​Upper = 758 gal, SLower = 543 gal (b) S​Upper = 2363 gal, SLower = 1693 gal 

     (c) worst case: 31.44 h, best case: 32.37 h

30. Area here is the total number of sales in millions of units. 
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32. False. All 3 approximations are the same if the function is constant.

34. D   36. D   38. False. Look at y = x2, [0,1] and then consider only 1 rectangle (n = 1).

40.
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